
C. CRETORS AND COMPANY
176 MITTEL DRIVE
WOOD DALE, IL 60191
PHONE: (847)616-6900, (800)228-1885, FAX: (847)616-6971
WEB SITE: http://www.cretors.com Email: postmaster @ cretors.com

CTD-A/E-3.0-A
05/19

DOC: CTD30002COUNTER TOP DISPENSER
FAST
BEGINNING SERIAL NO. 00020590

GOLDEN

DELICIOUS

GOLDEN

DELICIOUS

GOLDEN

DELICIOUS

C
. C

R
E

TO
R

S
&

com
pany

3243
N

. C
A

LIF
O

R
N

IA
AV

E
N

U
E

C
H

IC
A

G
O

, IL
60618

(7
73) 558-1

690

OPTIONAL: 2 GALLON LINER

Push down until
Tube seats

Pull tight on
tube here

1601

1788/
2852

7642

1587

1746

12264

2168

7613

7779
7621

7788

7640

7722

12567

3057

1600

1600

22943677

12252

12198

12190

2121

10191

12263

1595
1579

10482/
10482-E-70C

1572

10662

12535

12231
12232

12314/
12314-E

12197

12192

12433

12434

12435

12406/12406-E



C. CRETORS AND COMPANY
176 MITTEL DRIVE 
WOOD DALE, IL 60191
PHONE: (847)616-6900, (800)228-1885, FAX: (847)616-7141
WEB SITE: http://www.cretors.com Email: postmaster @ cretors.com

CTD-A/E-3.0-A
05/19

DOC: CTD30002COUNTER TOP DISPENSER
FAST
BEGINNING SERIAL NO. 00020590

1572 INSTRUCTION DECAL

12567         BOTTOM PANEL

1579 PLEXI-GLASS SIGN-BACKING

1586 LIGHT SOCKET

1587 PUMP HEAD

1595 DECAL “GOLDEN DELICIOUS”

1579 PLEXI-SIGN BACKING-TOPPER

1600 SILICONE TUBE - 25” PIECE

1600-1 TUBING - SILICONE TUBE - PER FOOT

1601 ELBOW-BLACK PLASTIC

1746 RUBBER FOOT

1788 CORD-10AMP - 16-3-NEMA 5-15P

2168 HEYCO CORD GRIP

2852 CORD - 10 AMP,3X1, 0MM EUROPEAN

3057 INSULATION

10662        SWITCH PUSH BUTTON, 16A 125/250V

4922 SWITCH-SMALL ROCKER

7613 6-32 x 5/16 x 7/64” HEX NUT

7621 1/4” INTERNAL TOOTH LOCKWASHER

7640 1/4-20 HEX NUT

7642 8-32 x 3/8 SS TRUSS HEAD

7722 6-32 x 3/4” BINDING HEAD

7763 TOPPER PUMP BOLTS & SCREWS (SET)

7788 #6 LOCKWASHER

12314-E HEAT ELEMENT - CTB TOPPER 230V

12406 MOTOR 120V 80 RPM SLOTTED SHAFT

12433 LINER

12434 COVER

12435 LINER & COVER SET

2121 BUSHING HEYCO

7779 1/4” SAE FLAT WASHER

10191 PLEXI - SIGN FRONT

10482 HEAT PAD 120V

12190 TUB

12192 WIRING COVER - CTB TOPPER

12197 DISPENSING HEAD

12198 DISPENSING HEAD COVER

12231 DISPENSING TUBE

12232 BUTTER SWITCH COVER

12535        DECAL - CTD TOPPER

12252 HOSE CLAMP FITTING

12263 SIGN BRACKET

12264 COVER - BIB COUNTER

12314 HEAT ELEMENT

10482-E-70C  HEAT PAD - 230V, 70C 300W

12406-E  MOTOR - 230V 67 AMP - SLOPTTED SHAFT

NOT SHOWN
12336-2 DRIP TRAY - CTD
12336-3 DRIP TRAY SCREEN CTD


